Multiply and Divide by Negative Powers of Ten (I)

Find each product or quotient.

34 +0.01= 8x0.1=

4 x 0.001 = 28 =+ 0.001 =
42 - 0.01 = 48 X 0.001 =
8 +0.01= 67 X 0.1 =
75 % 0.1 = 57 X 0.1 =
41 x 0.001 = 95 x0.01 =
80 + 0.001 = 59 x 0.001 =
80 + 0.001 = 82+0.1=
20+ 0.01= 71x0.1=
25x0.1= 93 X 0.001 =
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1ltiply and Divide by Negative Powers of Ten (I) Answe

Find each product or quotient.

34 + 0.01 = 3,400 8x0.1=0.8

4 x 0.001 =0.004 28 = 0.001 = 28,000
42 = 0.01 = 4,200 48 X 0.001 = 0.048
8 +-0.01 =800 67 X 0.1=6.7
75x01=75 57x0.1=5.7

41 x 0.001 = 0.041 95 x0.01 =0.95

80 =+ 0.001 = 80,000 59 x 0.001 = 0.059
80 =+ 0.001 = 80,000 82 + 0.1 =820

20 +0.01 =2,000 71x0.1=7.1
25x01=25 93 X 0.001 =0.093
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